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ENGLISH WORKSHEET -1
I. Read the following questions and choose the most appropriate response from the choices
given below, fill your answers in the blanks:

1. According to a Greek legend, was a ship built by Argus.

(a) argee (b) colchos (c) Argo (d) andrew

2. Salarino and Salanio are talkative like

(a) Gratiano (b) Bassanio (c)Nerissa (d) Portia
3. The opening scene is important from the point of view of
(a) puzzle (b) confusion (c) status (d) character-portrayal

4. Antonio asks Bassanio about the lady to whom he has sworn

(a) in party (b) in a shop (c) ina palace (d) a secret pilgrimage

5. Antonio has many friends; but he deeply attached to

(a) Gratiano (b) Bassanio (c) Shylock (d) Tubal
6. In the English captured a Spanish Ship in Cardiz.

(a) 1596 (b) 1592 (c) 1590 (d) 1567
7.The was believed to be the voice of Gods.

(@) French Oracle (b) Greek Oracle  (c) Roman Oracle (d) Athenian Oracle

8. a Roman God usually depicted with two heads.

(a) Aneas (b) Mercury (c) Hercules (d) Janus

9. Bassanio is shown as a young gallant.

(a) Spendthrift (b) adventurous (c) stingy (d) revengeful

10. “Are as twograins of wheat hid in two bushels of chaff: you shall seek all day ere you find tem,
and when you have them, they are not worth the search”.

Who said these words?

(a) Bassanio (b) Gratiano (c) Portia (d) Antonio

11. Bassanio approaches Shylock for a loan of

(a) five thousand ducats (b) three thousand ducats
(c) ten thousand ducats (d) six thousand ducats
12. Jacob was the son of Isaac and grandson of

(a) Laban (b) Jason (c) Abraham (d) Joseph




ENGLISH WORKSHEET-2
I. Read the following questions and choose the most appropriate response from the choices
given below, fill your answers in the blanks:

1. from England is strangely and unmannerly dressed.
(a) The Scottish Lord (b) Prince of Morocco
(c) Baron Falconbridge (d) Monsieur Le Bon

2. Give the meaning of the word “colt”.

(a) dragon (b) sheep (c) a young horse (d) a panda

3. Antonio’s melancholic mood in the first scene is parallel to weary mood in Act 1,
Scene 2.

(a) Nerissa (b) Jessica (c) Bassanio (d) Portia

4. Give the meaning of the word “county”.

(a) scholar (b) teacher (c) a local ruler (d) soldiers
5. Shylock dislikes and refuses Bassanio's invitation for dinner.
(a) Jews (b) Muslims (c) Christians (d) Zoroastrians

6. “Hath a dog money? Is it possible
A cur can lend three thousand ducats”.

Who said these words?

(a) Jessica (b) Launcelot (c) Shylock (d) Antonio

7. The word “publican” is clearly derived from the

(a) Quran (b) Gospels (c) Greek mythology (d) Bible
8. Act 1, Scene takes place in

(a) a garden (b) a public place in Venice

(c) in Shylock's house (d) in Tubal's house

9. What does Shylock say he will not do with a Christian?

a) walk, talk, or stay with  B) sell, buy, or deal with C) lend, borrow, or buy with D) eat, drink,
or pray with

10. was a pre-Socratic Greek philosopher.

(a) Heraclitus (b) Jason (c) Laban (d) Sibylla

11. Diana means the

(a) Superior (b) God of Wars (c) Bright Goddess (d) God of Heaven

12. “Your father was ever virtuous: and holy men at their death have good inspirations”.




(@) Prince of Morocco (b) Nerissa (c) Antonio (d) Balthazar

ENGLISH WORKSHEET-3

I. Read the following questions and choose the most appropriate response from the choices
given below, fill your answers in the blanks:

1. promises to be on his best behavior, and the two men plan a night of merriment
to celebrate their departure.

(a) Salario (b) Solanio (c) Bassanio (d) Gratiano

2. What is the penalty for Portia’s suitors if they guess the wrong casket?

(a) They must exile themselves (b) They must apologize
(c) Death (d) they must never marry.
3. Who is the first suitor that actually chooses a casket?

(a) Bassanio (b) Antonio

(c) The Prince of Morocco (d) The duke of Burgundy
4. Why does Launcelot want to leave his master Shylock?

(a) Shylock pays badly (b) Shylock has abused him
(c) Shylock is Jewish (d) Shylock is annoying

5.Who does Launcelot want to work for instead of Shylock?
(a) Bassanio (b) Antonio (c) Gratiano (d) Portia

6. What does Shylock's daughter Jessica give Launcelot when he leaves?
(@) Herring (b) a letter (c) keys to Shylock's safe (d) a map

7. What does Shylock mean when he says that “Antonio is a good man”?

a) Antonio is a man who sells goods. b) Antonio is a man of good moral character.
¢) Antonio is a good business risk. d) Antonio is quite the ladies” man.
8. What does Shylock say he will not do with a Christian?

a) walk, talk, or stay with b) sell, buy, or deal with
c) lend, borrow, or buy with d) eat, drink, or pray with

9. For how long does Bassanio wish to make a loan?

a) 1 month b) 2 months ¢) 3 months d) 6 months

10. Golden fleece is referred to as the fleece of the winged ram,

(a) phryxus (b) Zeus (c) Ares (d) chrysomallous




ENGLISH WORKSHEET- 4

I. Complete the following sentences using appropriate articles. In some cases, no articles are

needed.

Lo man is mortal.

2. lam oo university student.

3. She goes to the templein .................... mornings.
4. Kiranis .......cooeeveiiinnnn. best student in the class.
S camel is the ship of the desert.

I1. Write the suitable questions for the following answers.
1.

| met Ram in the park last night.
2.

The policeman was looking for the thief.

3.

She cooked the dinner.

4.

That beautiful bike is my uncle’s.

5.

| got the medicine from the chemist.

I11. Fill in the blanks with an appropriate relative pronoun.

1. Thisisthetown .........ccceene.ne. I spent my childhood.

2. Thisisthetownin ........cccceeeeeee, | spent my childhood.
3. Thisis the house ...........ccceeuvenne. | was born in.

4. Hereisanarticle .........cc.cceeveeen. might interest you.
5.1gaveherabag .....cccccoeuvennnnne she put in her bag at once.

IV. Complete the following exclamatory sentences with what...

has been done for you.

1. wonderful ideas she has!

2 grand day!

3 hypocrite Sneha is !

4, beautiful music they are palying !
5 mean fellow you are !

and what a ....

.The first one




ENGLISH WORKSHEET- 5- GRADE-8

I. Read the following sentences and change them as directed.
1. Gold is the most expensive of all the metals. (Positive degree)

2. Ramu is stronger than Shamu. (Positive Degree)

3. China has a higher population than India. (Positive Degree)

4. Riya is the laziest girl in the class. (Positive Degree)

5. Minu is the sweetest girl in the class. (Positive Degree)

I1. Choose the correct order of adjectives in the following sentences.

1. The woman is wearing a dress. A) yellow long B) long yellow
2.Heisa man. A) tall thin B) thin tall

3). The company makes products. A) excellent farming B) farming excellent
4) .James recently departed on a trip. A) camping long  B) long camping

5) . love eating strawberries. A) red big B) big red

I11. Complete the following sentences using appropriate collective nouns.

LA of locusts attacked a ....................... ... of cattle.

2 A of birds is always a beautiful sight.

3. They welcomed the chief guest witha ............................ of flowers.

4. As we drove down the country side, We SAW @ ...........ccoviviiiiiiiiiiiniiniannn, of sheep grazing
in the fields.

5.The coooiiiiiii . of thieves has been arrested by the police.

IV. Correct the following sentences.
1. The price of many things have risen.
2. Ten kilometers are a long distance.
3. Two and two makes four.

4. The jury have decided the case.

5. Most of the buildings in this town is new.




